Parts Price List

Disposers - ScrapMaster - TroughVeyor - Collectors - Controls

Effective January 1, 2024

Tech Service Line: 1-888-SALVAJOR
8:00 a.m. —4:30 p.m. CST (725-8256)

B Parts are listed alphabetical by description.

B Terms are net 30 days, F.O.B. Kansas City, MO.

m All prices in U.S. dollars.

| All prices are subject to change without notice.

m Prices are listed as “one each” and not necessarily as required for individual units.
m All orders are subject to acceptance by the Salvajor Company, Kansas City, MO.

B State and local taxes not included in price shown.

m Complete General Terms & Conditions of Sale can be found on the warranty form.
®m Written acceptance necessary before returning any item to the factory.

B Returned items to be freight prepaid.

B Returned items less 20% or $50 minimum rehandling and reconditioning cost.

m 90-day parts warranty on defects in material and/or workmanship. Labor not included.

B Minimum parts order is $25.00 net.

Visit our website, www.salvajor.com, and download our current operation manuals,
specification sheets, adaptor chart and part breakdowns.
Information can also be requested from the factory via the website.

Have model, serial number and operating voltage available when requesting tech assistance.

SALVAJOR

FOOD WASTE SOLUTIONS

4530 East 75th Terrace  Kansas City, Missouri 64132-2081
salvajor.com email: service @salvajor.com



f

m SALVAJOR Food Waste Disposer
@€ Parts Price List
PART # DESCRIPTION Model: 75 100 150 200 300 500 750 PRICE
996023 BEB RUBBER ISOLATOR X X X X X X X $40.00
6205 BOTTOM BEARING X X X X X X X $55.00
983016 BOTTOM END BELL (MODEL 100-300) X X X X X $301.00
983017 BOTTOM END BELL (MODEL 500 & 750) X X $301.00
BEBA5G BOTTOM END BELL ASSEMBLY X $397.00
BEBA7G BOTTOM END BELL ASSEMBLY X $397.00
BEBA123G BOTTOM END BELL ASSEMBLY 19 & 3@ X X X X X $397.00
982097 BRACKET, SOLID STATE START SWITCH X X X X $29.00
994183 CAPACITOR X X X X $50.00
997050 CASTLE NUT X X X X X X X $11.00
996045 CENTER GASKET X X X X X X X $48.00
M116 CLAMP X X X X X X X $22.00
M128 CLAMP X X X X X X X $25.00
M88 CLAMP X X $11.00
997051 COTTER PIN X X X X X X X $4.00
KCGRF2 CUTTING KIT X X $1,158.00
KCGRF3 CUTTING KIT X $1,260.00
KCGRF5 CUTTING KIT X $1,370.00
KCGRF7 CUTTING KIT X $1,370.00
KCJ1 CUTTING KIT J SERIES X X $696.00
KCJ2 CUTTING KIT J SERIES X X $1,158.00
996038 DRAIN ADAPTOR 2” - 3” X X X X X $34.00
M40 DRAIN CLAMP 2” X X X X X $9.00
997131 DRAIN CLAMP 3” X X X X X $16.00
DI DRAIN INSERT 2” X X X X X $16.00
988015 DRAIN INSERT 3” X X X X X $26.00
987002 DRIVE WASHER X X X X X X X $9.00
983004 FACE PLATE X X $306.00
983005 FACE PLATE X $403.00
983006 FACE PLATE X $443.00
983015 FACE PLATE X X $286.00
996024 FAN FRICTION WASHER X X X X X X X $15.00
997029 FLAT WASHER X X $6.00
2357A HYCAR ADAPTOR X X X X X X X $123.00
100A HYCAR ADAPTOR 0.S. (4 1/2”) X X $109.00
JBC JUNCTION BOX COVER X X X X $25.00
JBCA JUNCTION BOX COVER ASSEMBLY X X X X X X X $43.00
31634 KEY WAY X X X X X X X $6.00
997070 KEY WAY X X X X X $6.00
KL1001 KLIXON X X $64.00
KL1003 KLIXON X X $159.00
KL2001 KLIXON X X $72.00
KL2003 KLIXON X X $171.00
KL3003 KLIXON X $175.00
KL5003 KLIXON X $249.00
KL7503 KLIXON X $282.00
KLC KLIXON COVER X X X X X X X $29.00
KLCG KLIXON COVER GASKET X X X X X X X $19.00
123 KLIXON O-RING X X X X X $9.00

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
2



SALVAJOR Food Waste Disposer

Parts Price List

DESCRIPTION

750

222

982296
982280

38L

997092
991105
991106
991107
991108
991020
5318
J991019
J5318
11012
11026
12151
996020
PL5
996055
987001
980132
7814RN
996025
RSG

RDO
996037
997067
997066
997022
KSH123

8S

98

108

8SWX
AS8VALVE
AS8115C
AS8208C
AS824C
AS8460C
ASBKIT
995009
994071
MH110371K
MH112754K
MH1101689K
MH112754B
MH1132112K
MH21004
MH21007

KLIXON O-RING

LEG EXT ALUMINUM 6”

LEG EXT ALUMINUM 9 3/8”
LOCK WASHER

LOCK WASHER

MOTOR ROTOR 75-1/100-1/125-1 (J Series)
MOTOR ROTOR 75-1/100-3/125-1 (J Series)
MOTOR ROTOR 150-1/200-3 (J Series)
MOTOR ROTOR 150-3/200-3 (J Series)
MOTOR ROTOR 300-3

MOTOR ROTOR 500-3

MOTOR ROTOR 300-3 (J Series)
MOTOR ROTOR 500-3 (J Series)
O-RING

O-RING

O-RING

O-RING

PLUG

PORON FOR CAPACITOR
RETAINING WASHER

ROTOR BASE

ROTOR NUT

ROTOR SHAFT GASKET

ROTOR SHAFT GASKET
RUBBER DRAIN OUTLET 2”
RUBBER DRAIN OUTLET 3”
SCREW 10-32 X 3/4

SCREW 10-32 X 5/8”

SCREW 5/16”-18 X 1” SS

SEAL KIT

SHREDDER

SHREDDER

SHREDDER

SHREDDER J SERIES

SOLENOID BODY ONLY
SOLENOID COIL 115V

SOLENOID COIL 208V

SOLENOID COIL 24V

SOLENOID COIL 460V

SOLENOID REBUILD KIT
SPACER SEAL

START SWITCH (J Series)
STATOR & SLEEVE 200 115/230-1
STATOR & SLEEVE 200 208/460-3
STATOR & SLEEVE 200 208-1
STATOR & SLEEVE 300 208/460-3
STATOR & SLEEVE 500 208/460-3
STATOR/HOUSING 100 115/230-1
STATOR/HOUSING 100 208/460-3

X X X X X

X X X X

>x< X

X X X X X X X X

X X X X X X X X X

300 500
X
X X
X X X
X
X X X X X
X
X
X X
X X
X
X
X
X
X
X X X X X
X X X X X
X X X X X
X X X X
X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X
X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X
X
X
X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X
X
X
X
X
X
X
X

X X X X X X X X X X X X X X X

>

X X X X X X X

$15.00
$130.00
$130.00
$5.00
$14.00
$555.00
$555.00
$693.00
$693.00
$714.00
$899.00
$714.00
$899.00
$4.00
$6.00
$9.00
$4.00
$8.00
$9.00
$11.00
$350.00
$16.00
$19.00
$19.00
$85.00
$98.00
$3.00
$3.00
$3.00
$500.00
$457.00
$639.00
$720.00
$457.00
$207.00
$211.00
$211.00
$211.00
$211.00
$146.00
$7.00
$320.00
$1,588.00
$1,588.00
$1,588.00
$1,636.00
$1,729.00
$1,430.00
$1,430.00

TECH SERVICE LINE: 1-888-SALVAJOR

FAX: 1-800-832-9373

Email: service@salvajor.com

3

Web: www.salvajor.com



PART #
MH21005
MH22004
MH22007
MH22005
MH33007
MH35007
ANL79X158
985001
980007
993001
983010
980131
TVSCMHA
S67350
S67350B
997024
997043
987003

SALVAJOR Food Waste Disposer

Parts Price List

DESCRIPTION

STATOR/HOUSING 100 208-1
STATOR/HOUSING 200 115/230-1
STATOR/HOUSING 200 208/460-3
STATOR/HOUSING 200 208-1
STATOR/HOUSING 300 208/460-3
STATOR/HOUSING 500 208/460-3
TOLERANCE RING

TOP BEARING CUP/CONE

TOP END BELL ASSEMBLY

TOP END BELL INSERT W/SEAL
TOP HOUSING

TOP HOUSING ASSEMBLY

TOP HOUSING, SHORT 75 - 750
VARILIP SEAL

VARILIP SEAL, TOP

WASHER 3/4” OD 3/16”ID
WASHER 10-32

WAVE WASHER X

Model: 75

X X X X X X X X X

100 150 200 300 500

X
X
X
X
X
X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X X
X X X X
X X X X
X X X X X

750

X X X X X X X X X

PRICE
$1,430.00
$1,620.00
$1,620.00
$1,620.00
$1,667.00
$1,758.00

$16.00
$77.00
$207.00
$128.00
$503.00
$687.00
$456.00
$63.00
$63.00
$3.00
$3.00
$11.00

TECH SERVICE LINE: 1-888-SALVAJOR

FAX: 1-800-832-9373

Email: service @salvajor.com
4

Web: www.salvajor.com



SALVAJOR ScrapMaster. & TroughVeyor. l‘ﬁ“ﬂﬁ
Parts Price List for Models SM/PSM & TVL/TVR v

PART # DESCRIPTION Model: SM/PSM TVLTVR PRICE
998133 ADAPTOR 3/4” BARB 90 NYLON ELBOW X X $10.00
998136 ADAPTOR 1/2” 90 DEGREE 3/4” BARB X $8.00
998132 ADAPTOR 3/4” 90 DEGREE 1/2” X X $8.00
998046 ADAPTOR 3/8” 90 DEGREE 1/2” X X $8.00
75BV BALL VALVE X X $110.00
995005 BEARING X $25.00
SM4RBC BLIND SIDE BEARING CARRIER X X $62.00
Tv84 BRACKET PIPE SUPPORT TV X $137.00
982009 BRACKET, PUMP & MOTOR X $141.00
914CV CHECK VALVE X X $58.00
B16 CLAMP X X $5.00
M32 CLAMP X $5.00
S24 CLAMP X X $5.00
997183 CLAMP 1/2” X 1 1/16” X X $5.00
997001 CLAMP 1/4” X 11/16” X X $5.00
15X15BR COUPLING, 1 1/2” X1 1/2” X X $28.00
980114 DOOR ASSEMBLY W/PROXIMITY SWITCH X $477.00
980140 DOOR ASSEMBLY W/PROXIMITY SWITCH X $477.00
S914PDE ELBOW, 3/4” X 1” DISCHARGE X $61.00
S914PIE ELBOW, 3/4” X 3/4” INTAKE X X $61.00
15X90QEL ELBOW, RUBBER 1 1/2” X 90° X X $61.00
996019 ELBOW, RUBBER TV DISCHARGE X $61.00
994046 FUSE 2 AMP X $32.00
SM52G GASKET, SEPERATOR PLATE X X $28.00
981002 GEARMOTOR 208-230/460V 3@ X X $1,932.00
980121L GEARMOTOR ASSEMBLY 208-460V 3@ LH X X $2,595.00
980121R GEARMOTOR ASSEMBLY 208-460V 3@ RH X X $2,595.00
996007 GUSHER HEAD ONLY X $194.00
980146 GUSHER PLATE X $72.00
996057 GUSHER PLATE GASKET X $13.00
980088 GUSHER TUBE SM X $557.00
996027 IMPELLER (ON TV BEGIN SERIAL #2958) X X $130.00
999239 LABEL, TV OPERATING INSTRUCTIONS X $32.00
991060 MOTOR, PUMP TEFC 115/208-230-19 X X $1,494.00
991061 MOTOR, PUMP TEFC 208/460-3@ X X $1,587.00
982019 NIPPLE PUMP VALVE 6” X $7.00
996028 O-RING X X $13.00
11012 O-RING X $4.00
980054 PLUMBING ASSEMBLY TV X $248.00
980558 PROXIMITY SWITCH RETROFIT KIT X X $145.00
980076 PUMP & MOTOR ASSEMBLY SM 115/208-230-1@ X X $2,273.00
980077 PUMP & MOTOR ASSEMBLY SM 208/460V 3@ 3/4 HP X X $2,412.00
980074 PUMP ASSEMBLY X $782.00
988009 PUMP BASE X X $261.00
988017 PUMP DISCHARGE PIPE 1/2” X $14.00
988010 PUMP HOUSING X X $261.00

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
5



SALVAJOR ScrapMaster. & TroughVeyor:
Parts Price List for Models SM/PSM & TVL/TVR

PART # DESCRIPTION Model: SM/PSM TVL/TVR PRICE
980559 PUMP PLUMBING ASSEMBLY X $249.00
980091 PUMP PLUMBING ASSEMBLY (SM S/N 1846 -2999) X $249.00
980164 PUMP VALVE ASSEMBLY X $306.00
986054 RECIRCULATION HOSE 13” X $33.00
986053 RECIRCULATION HOSE 5” X $19.00
996056 RECIRULATION HOSE (Per foot) X $39.00
982159 ROD 5/16” X 8 1/2” BASINITANK X X $30.00
982147 ROD DOOR TV BASIN X $30.00
982010 ROD SEP CLEANER X X $30.00
SM47X5 RUBBER FLAP GASKET SM/TV X X $50.00
980086 SALVAGE BASIN X $277.00
980145 SALVAGE BASIN ASSEMBLY (BEGIN SM S/N 3000 & ALL PSM) X $331.00
980085 SCREEN ASSEMBLY SM/TV X X $691.00
997066 SCREW 10-32X5/8 FL HD PHILSS, GUSHER PLATE X $3.00
997089 SCREW, CAP FOR IMPELLER X X $3.00
ECK511 SEAL, PUMP X X $165.00
995007 SEAL, SEPARATOR CAP X X $42.00
980059 SEPARATOR ASSEMBLY X X $627.00
980060 SEPARATOR CAP ASSEMBLY X X $413.00
980046 SEPARATOR CLEANER ASSEMBLY X $264.00
980090 SEPARATOR CLEANER ASSEMBLY X X $264.00
980147 SERVICE COVER X X $306.00
998058 SLIP VALVE 1 1/2* X X $202.00
AS824DINC SOLENOID COIL ONLY 24V/60 W/DIN X X $210.00
994395 SOLENOID DIN CONNECTOR “CORD” X X $41.00
ASSBKIT SOLENOID REPAIR KIT X X $146.00
AS8245DIN SOLENOID VALVE 1/2” 24v W/FLOW CTRL DIN MOUNTING (Accessory) X X $391.00
AS8242DIN SOLENOID VALVE 1/2” 24v W/FLOW CTRL DIN MOUNTING (Accessory) X X $391.00
AS824DIN SOLENOID VALVE 1/2” W DIN MOUNTING (Accessory) X X $391.00
982199 TANK MOTOR BASE BRACKET X X $151.00
998024 TEMPERING VALVE X X $489.00
998124 TEMPERING VALVE ONLY, WATER HARNESS X X $506.00
998130 TUBING, NYLON BRAIDED 3/4” (Sold Per Inch) X X $6.00
998022 TUBING, NYLON BRAIDED 3/8” (Sold Per Inch) X X $5.00
996030 V-RING X X $15.00
980095 WATER HARNESS ASSEMBLY TV X $1,349.00
980191 WATER HARNESS ASSEMBLY SM/PSM/TV 24v X X $1,327.00
980096 WATER HARNESS ASSEMBLY SM 24v X $1,253.00
980139 WATER HARNESS ASSEMBLY SM/PSM/TV 24v X X $1,295.00
998110 WATER HARNESS BLENDER ASSEMBLY X X $926.00

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
6



SALVAJOR ScrapMaster. & TroughVeyor. %‘ﬂ%’
Parts Price List for Models SM/PSM & TVL/TVR L

ScrapMaster
Model SM

Pot/Pan ScrapMaster
Model PSM

TroughVeyor
Model TVL

TroughVeyor
Model TVR

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
7



SALVAJOR Food Waste Collector..
J Parts Price List for Models P914, S914 & S419

PART # DESCRIPTION Model: P914 S914 S419 PRICE
998136 ADAPTOR 1/2” 90 DEGREE 3/4” BARB X X X $8.00
998046 ADAPTOR 3/8” 90 DEGREE 1/2” X X X $8.00
998132 ADAPTOR 3/4” 90 DEGREE 1/2” X X X $8.00
75BV BALL VALVE X X X $110.00
914CV CHECK VALVE X X X N/A
15X15BR COUPLING 1 1/12X 1 1/2” X $28.00
S24 CLAMP X X X $5.00
M32 CLAMP X X X $5.00
997183 CLAMP 1/2” X 1 1/16” X X X $5.00
997001 CLAMP 1/4” X 11/16” X X X $5.00
S914PDE ELBOW, 3/4 X 1 DISCHARGE X X X $61.00
S914PIE ELBOW, 3/4 X 3/4 INTAKE X X X $61.00
988025 ELBOW ASSY X $19.00
998113 ELBOW, NYLON 3/8” X 3/8” 90 DEGREE X X X $5.00
996019 ELBOW, DISCHARGE 1 7/8” X X X $61.00
996034 ELBOW, INTAKE X X X $55.00
15X90QEL ELBOW, PUMP INTAKE 1 1/2 x 90 X X X $61.00
91431 FLANGE GASKET ASSY X X $51.00
996057 GUSHER PLATE GASKET X X $14.00
996058 GASKET, REMOVABLE TOP COLLECTOR X X X $9.00
996007 GUSHER HEAD ONLY X $194.00
993002 GUSHER TUBE X X $557.00
980146 GUSHER PLATE X X $72.00
997183 HOSE CLAMP 1 1/16” X X X $5.00
996027 IMPELLER X X X $130.00
980157 LEG BRACKET X X X $50.00
986009 LEG EXTENSIONS, 2” X X X $48.00
914LESS LEG SS W/FOOT X X X $113.00
ILW14S8S LOCKWASHER 1/4 INTERNAL SS (Collector Top) X X X $5.00
38L LOCKWASHER 3/8” INTERNAL SS (Leg bracket) X X X $5.00
991060 MOTOR, PUMP TEFC 115/208-230 19 X X X $1,494.00
991061 MOTOR, PUMP TEFC 208-230/460 3@ X X X $1,587.00
980159 NOZZLE ASSEMBLY X X X $176.00
1420NSS NUT 1/4-20 HEX SS (Collector Top) X X X $4.00
11012 O-RING X X X $5.00
996028 O-RING X X X $13.00
996071 O-RING, PUMP INTAKE X X X $6.00
988006 OVERFLOW PIPE X X X $98.00
988027 PLUMBING VALVE ASSEMBLY X X $161.00
980074 PUMP ASSEMBLY X X X $782.00
988009 PUMP BASE X X X $261.00
988010 PUMP HOUSING X X X $261.00
980110 PUMP INTAKE SCREEN $419/S914 X X X $293.00
988026 PUMP PLUMBING ASSEMBLY X $202.00
980164 PUMP VALVE ASSEMBLY X X $306.00
S914FCA PUMP VALVE ASSEMBLY X X $251.00
980076 PUMP/MOTOR ASSY 208-230 19 X X X $2,273.00
980077 PUMP/MOTOR ASSY 208/460V-3@ X X X $2,412.00

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
8



SALVAJOR Food Waste Collector..
Parts Price List for Models P914, S914 & S419

PART # DESCRIPTION Model: P914 $914 $419 PRICE
980197 QUICK FILL NOZZLE ASSEMBLY X X X $169.00
986055 RECIRULATION HOSE 21” X X $33.00
996056 RECIRULATION HOSE (Per foot) X X $39.00
997066 SCREW 10-32X5/8 FL HD PHILSS, GUSHER PLATE X X $3.00
997061 SCREW 3/8” X 1” HHCAP SS (For Leg Bracket) X X $3.00
992010 SCRAP BASIN (Accessory) X X $1,008.00
992012 SCRAP BASKET (Accessory) X X $1,107.00
997089 SCREW, CAP FOR IMPELLER X X X $3.00
ECK511 SEAL, PUMP X X X $165.00
994395 SOLENOID DIN CONNECTOR “CORD” X X X $41.00
ASBKIT SOLENOID REPAIR KIT X X X $146.00
AS824DIN SOLENOID VALVE 24v 1/2” W DIN MOUNTING (Accessory) X X X $391.00
AS8242DIN SOLENOID VALVE 24V W/FLOW CTRL 1/2” WIDIN (Accessory) X X X $391.00
AS824DINC SOLENOID COIL ONLY 24V/60 W/DIN X X X $210.00
998024 TEMPERING VALVE X X X $489.00
988040 TUBING, NYLON BRAIDED 3/4” **sold per inch** X X X $6.00
998022 TUBING, NYLON BRAIDED 3/8” **sold per inch** X X X $5.00
998124 TEMPERING VALVE ONLY, WATER HARNESS X X X $506.00
996030 V-RING X X X $15.00
998110 WATER HARNESS BLENDER ASSEMBLY X X X $926.00
9801582 WATER HARNESS 24v ASSY X X X $1,293.00
9801584 WATER HARNESS 115v ASSY X X X $1,293.00
9801585 WATER HARNESS 208v ASSY X X X $1,293.00
9801589 WATER HARNESS 460v ASSY X X X $1,293.00
980192 WATER HARNESS 24V ASSY X X X $1,365.00
980002 WATER HARNESS X X X $988.00

Pot/Pan Collector
Model P914

Scrap Collector
Model S914

Trough Collector
Model S419

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
9



SALVAJOR Electrical Controls

Parts Price List

PART # DESCRIPTION Model: MSS MRSS ARSS-2 ARSS  SS-33 PRICE
994080 ALTERNATOR 24V X X $260.00
994415 ALTERNATOR RELAY 24V X $192.00
994405 CONTACTOR, 24V COMPACT 1 POLE X $152.00
994406 CONTACTOR, 208-240V COMPACT 1P X $152.00
994006 CONTACTOR 115V 32A 3 POLE X $318.00
994007 CONTACTOR 208-230V 32A 3 POLE X $318.00
994363 CONTACTOR 208-230V 32A 3 POLE X $318.00
994008 CONTACTOR 460V 32A 3 POLE X $314.00
994059 CONTACTOR 24V 32A 3 POLE X X $314.00
994173 CONTACTOR N/R 120V 30A 3 POLE X X X $274.00
994174 CONTACTOR 24V 32A 3 POLE X X $292.00
994316 CONTACTOR 460V 30A 3 POLE X $302.00
994305 CONTACT ASSEMBLY 115V 30A 3 POLE X $656.00
994306 CONTACT ASSEMBLY 208V 30A POLE X $656.00
994307 CONTACT ASSEMBLY 460V 30A 3 POLE X $656.00
994380 CONTACTOR ASSEMBLY 24V X $642.00
994299 CONTACT BLOCK AUXILLARY X X $60.00
999173 CONTROL OVERLAY, MRSS X $26.00
999132 CONTROL OVERLAY, MSS X $26.00
999235 CONTROL OVERLAY HYDROLOGIC TV/S419 X $34.00
999257 CONTROL OVERLAY HYDROLOGIC ARSS X $34.00
999258 CONTROL OVERLAY HYDROLOGIC SM/PSM/S914 X $34.00
999038 CONTROL OVERLAY, ARSS2 X $26.00
994295 DIN RAIL (Sold Per Inch) X X X $6.00
994005 DIN RAIL (Sold Per Inch) X X $6.00
994381 DISCONNECT 6MM SHAFT X X X X X $16.00
980138 DISONNECT SWITCH ASSEMBLY , MSSLD X $560.00
980209 DICONNECT SWTICH ASSEMBLY, SS33 X $560.00
994177 DISCONNECT SWITCH ASSY, ARSSLD, MRSSLD, MSS3LD X X X X $560.00
994293 END BARRIER X X X X X $8.00
997161 FLATWASHER X $3.00
994095 FUSE 1 AMP 208-230v X X X X $30.00
994122 FUSE .5AMP 600V (ARSS 460v system) X X X $50.00
994101 FUSE ATMR-2 2AMP X X $28.00
994397 FUSE ATMR-2 3AMP, (TV, SM, S419, S914, P914) X $28.00
47GA GASKET, DOOR (RSS & JUNCTION BOX) $22.00
79GA GASKET, DOOR X X X $22.00
122GA GASKET, DOOR X X X X $30.00
12155GA GASKET, DOOR TV, SM $42.00
910GA GASKET, DOOR X X X $22.00
9155GA GASKET, DOOR X $42.00
984016 HANDLE, DISCONNECT ASSEMBLY X X X X X $94.00
994302 INTERLOCK MECHANICAL X X X $64.00
997160 NUT HEX 6-32 X $3.00
ASWN200 ON/OFF SELECTOR SWITCH (MSS-2) X $214.00
994024 ON/OFF SELECTOR SWITCH (MSS2)(PRIOR ‘92) X $216.00
980150 OVERLOAD ASSY 208-230V X X $256.00
980151 OVERLOAD ASSY 460V X X $226.00
994123 OVERLOAD BASE X X $62.00

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com

10



SALVAJOR Electrical Controls

Parts Price List

PART # DESCRIPTION Model: MSS MRSS ARSS-2 ARSS  SS-33 PRICE
994108 OVERLOAD RELAY .4 AMPS (FOR 460V) X $230.00
994291 OVERLOAD THERMAL .8 AMPS 208/230 SM/TV X $226.00
994359 PLUG, WIRE INPUT X $48.00
994360 PLUG, WIRE OUTPUT X $48.00
994120 RELAY 120V X $82.00
994180 RELAY 24V X X X $82.00
994063 RELAY 24V 11 SPADE (SM & TV) X $82.00
994102 RELAY BASE (RH2B 8 SPADE) X X $30.00
994064 RELAY BASE 24V 11 SPADE X X $42.00
994416 RELAY BASE 8 PIN OCTAL SOCKET X $30.00
980141 SELECTOR SWITCH FORWARD & REVERSE X $118.00
980606 SENSOR KIT FOR SS33 X $702.00
980607 SENSOR KIT FOR SM/PSM X $702.00
997032 SCREW, CONTROL PANEL DOOR X X X $3.00
997093 SCREW, CONTROL PANEL DOOR X X $3.00
SCR1032 SCREW 10-32 GREEN HX HD GROUND X $3.00
994392 SOLID STATE CONTROLLER X X $650.00
ABD100C START BUTTON N.O. WITHOUT PILOT LIGHT X X $252.00
ABD100B START BUTTON W/1-010 N.O. W/O PILOT LIGHT X X X X $216.00
ABD200A STOP BUTTON NC CONTACT X X X X X $176.00
994137 START OPERATOR BUTTON X X X X X $32.00
994141 STOP OPERATOR BUTTON X X X X X $32.00
994156 SWITCH, SELECTOR, (TIMED RUN SWITCH) X $216.00
994292 TERMINAL BLOCK X X X X X $8.00
994399 TERMINAL BLOCK LARGE X $18.00
994294 TERMINAL BLOCK END CLAMP X $8.00
994119 TIME DELAY ADJUST MODULE X $74.00
994268 TIME DELAY, 115V X $356.00
994269 TIMER DELAY ON BREAK 208/230V X X $288.00
994125 TIMER #TS1224 24V F & R 460V SYSTEM X X $226.00
994069A TIMER #TS2224 24V SOLENOID 45 second X $226.00
9940698 TIMER 24V SET TO 10MIN DRAIN $226.00
TS2424 TIMER 120V FOR SOLENOID X $226.00
994116A TRANSFORMER ASSY 120/240 24V SECONDARY w/1 amp fuse X X X $242.00
994115A TRANSFORMER ASSY 208-230 w/1 amp fuse X X X $246.00
994115B TRANSFORMER ASSY 208-230-460 115/24V w/2 amp fuse X X X $280.00
994115C TRANSFORMER ASSY 208-230 24V w/3 amp fuse X $246.00
994115D TRANSFORMER ASSY 460 24V w/3 amp fuse X $280.00
994394 WIRE HARNESS ASSY SM/TV X $126.00
994393 WIRE HARNESS ASSY ARSS/ARSSLD X $144.00

MsSSs MSS-LD §S-33

TECH SERVICE LINE: 1-888-SALVAJOR FAX: 1-800-832-9373

Email: service@salvajor.com  Web: www.salvajor.com
11



Parts Price List

Effective January 1, 2024

SALVAJOR

FOOD WASTE SOLUTIONS

4530 East 75th Terrace  Kansas City, Missouri 64132-2081
salvajor.com email: service @salvajor.com

Printed in USA
Form No.PPL (1-01-24)



